BID SUMMARY July 2, 2012

1. No. CC070212-02.1 – Canyon Lake Dam Reconstruction Vision 2012 Phase Four, Project No. PW08-1743 / CIP No. 50739 (Opened on June 19, 2012)

ADVERTISING AUTHORITY \$3,518,875.00 ENGINEER'S ESTIMATE \$3,586,260.00

Base Bid
1. ASI Constructors, Inc.*
2. Scull Construction Service, Inc.*
5,390,500.00
\$5,217,671.50

2. No. CC070212-02.2 – Pavement Rehabilitation Project Falcon Drive & Lawrence Court, Project No. 12-1988 / CIP No. 50844 (Opened on June 26, 2012)

ADVERTISING AUTHORITY \$250,000.00 ENGINEER'S ESTIMATE \$228,000.00

Base Bid
1. Simon Contractors of SD, Inc.*
2. Hills Materials Company*
3. J&J Asphalt Company*
\$242,633.00
\$242,633.00
\$243,750.00
\$214,226.50

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: June 26, 2012

PROJECT: Pavement Rehabilitation Project - Falcon Drive & Lawrence Court

Project No. 12-1988 / CIP No. 50844

RECOMMENDATION: Award Total Bid in the amount of \$214,226.50 to J&J Asphalt Company at the July 2, 2012 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS

TOTAL BID

J & J Asphalt Company	\$214,226.50				
Simon Contractors of SD, Inc.	\$242,633.00				
Hills Materials Company	\$243,750.00				

City staff recommends awarding this project to J&J Asphalt Company for a total bid amount of \$214,226.50 based on unit pricing with the following appropriation:

FUNDING SOURCE
ADVERTISING AUTHORITY
ENGINEER'S ESTIMATE

TOTAL	Streets	Sanitary Sewer
\$250,000.00	\$250,000.00	\$0
\$228,000.00	\$223,550.00	\$4,450.00

APPROPRIATION DATA:

FUNDING SOURCE
COST CENTER
LINE ITEM
FUNDING CENTER
BID AMOUNT

TOTAL	Street	Sanitary Sewer		
	8910	833		
	4370	4380		
	0505	0604		
\$214,226.50	\$208,346.50	\$5,880.00		

PROJECT MANAGER: Todal 2

Todal Rechart

Todd Peckosh, PE

DATE: 6/27/12

PROJECT NAME: PAVEMENT REHABILITATION PROJECT - FALCON DR & LAWRENCE CT

PROJECT NUMBER: PROJECT NO. 12-1988 / CIP NO. 50844

LET DATE: 6/26/12

LOW BID AMOUNT: \$214,226.50

				ENGINEER'S ESTIMATE J & J ASPHALT COMPANY		SIMON CONTRACTORS OF SD INC		HILLS MATERIALS COMPANY			
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	MOBILIZATION	LS	1.00	\$8,091.25	\$8,091.25	\$4,550.00	\$4,550.00	\$5,500.00	\$5,500.00	\$5,000.00	\$5,000.00
_ 2	REMOVE ASPHALT	SYD	4,660.00	\$2.50	\$11,650.00	\$2,50	\$11,650.00	\$3.20	\$ 14,912.00	\$2.40	\$11,184.00
3	UNCLASSIFIED EXCAVATION	CY	1,105.00	\$21.00	\$23,205.00	\$18:00	\$19,890.00	\$24.60	\$27,183.00	\$27.00	\$29,835.00
4	DIGOUTS	CY	50.00	\$25.00	\$1,250.00	\$18.00	\$900.00	\$34.00	\$1,700.00	\$33.30	\$1,665.00
5	TYPE 3 FOUNDATION	TON	100.00	\$25,00	\$2,500.00	\$25.00	\$2,500.00	\$24.00	\$2,400.00	\$25.60	\$2,560.00
6	REMOVE PCC FILLET	SF	465,00	\$2.50	\$1,162.50	\$2,00	\$930.00	\$3.00	\$1,395.00	\$3.25	\$1,511.25
7	REMOVE PCC PAN	SF	170,00	\$2.50	\$425.00	\$2.00	\$340.00	\$6.00	\$1,020.00	\$3.00	\$510.00
. 8	REMOVE CURB & GUTTER	LF	150.00	\$9.00	\$1,350.00	\$8.00	\$1,200.00	\$9.00	\$1,350.00	\$11.50	\$1,725,00
9	REMOVE SIDEWALK	SF	1,550.00	\$2.50	\$3,875.00	\$1.50	\$2,325.00	\$2.00	\$3,100.00	\$5.25	\$8,137.50
10	6" REINFORCED PCC FILLET	SF	465.00	\$7.75	\$3, 603.75	\$7.00	\$3,255.00	\$9.00	\$4,185.00	\$8.45	\$3,929.25
11	6" REINFORCED PCC PAN	SF	190.00	\$7.75	\$1,472.50	\$7.00	\$1,330 .00	\$9.00	\$1,710.00	\$8.45	\$1,605.50
12	CURB & GUTTER	LF	150:00	\$25.00	\$3,750.00	\$18.50	\$2,775.00	\$27.00	\$4,050.00	\$20.00	\$3,000.00
13	4" PCC SIDEWALK	SF	1,710.00	\$5.00	\$8,550.00	\$4 .25	\$7,267.50	\$5.00	\$8,550.00	\$5.60	\$9,576.00
14	DETECTABLE WARNING PANEL	SF	80.00	\$32.00	\$2,560.00	\$23.75	\$1,900.00	\$25.00	\$2,000.00	\$33.75	\$2,700.00
15	BASE COURSE	TON	1,950.00	\$21.00	\$40,950.00	\$21.00	\$40,950.00	\$20.00	\$39,000.00	\$20.65	\$40,267.50

16	ASPHALT	TON	1,150.00	\$73,50	\$84,525.00	\$74.00	\$85,100.00	\$71.00	\$81,650.00	\$80.00	\$92,000.00
17	REPLACE MANHOLE FRAME & LID	EA	5.00	\$400.00	\$2,000.00	\$400.00	\$2,000.00	\$740.00	\$3,700.00	\$425.00	\$2,125.00
18	CHIMNEY SEAL	EA	5.00	\$250.00	\$1,250.00	\$520.00	\$2,600.00	\$570.00	\$2,850.00	\$495.00	\$2,475.00
19	CHIMNEY SEAL EXTENSION	EA	5.00	\$200.00	\$1,000.00	\$240.00	\$1,200.00	\$300.00	\$1,500.00	\$220.00	\$1,100.00
20	ADJUSTING RING	EA	2.00	\$100.00	\$200.00	\$40.00	\$80.00	\$170.00	\$340.00	\$75.00	\$150.00
21	ADJUST VALVE	ĒA	4.00	\$150,00	\$600.00	\$80.00	\$320.00	\$230.00	\$920.00	\$140.00	\$560,00
22	AASHTO T-180	EA	2.00	\$140.00	\$280.00	\$150.00	\$300.00	\$140.00	\$280.00	\$163,00	\$326.00
23	GEOTEXTILE FABRIC	SYD	4,660.00	\$2.60	\$12,116.00	\$2.85	\$13,281.00	\$2.80	\$13,048.00	\$2.40	\$11,184 .00
24	SEED/FERTILIZE/MULCH	SYD	100.00	\$6.00	\$600.00	\$4.00	\$400.00	\$15.00	\$1,500.00	\$3,65	\$365.00
25	TRAFFIC CONTROL	LS	1.00	\$4,500.00	\$ 4,500.00	\$4,500.00	\$4,500.00	\$6,200.00	\$6,200.00	\$4,500.00	\$4,500.00
26	EROSION CONTROL	LS	1.00	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$565.00	\$ 565.00
27	INLET PROTECTION	EA	3.00	\$150.00	\$450.00	\$75.00	\$225,00	\$230.00	\$690.00	\$100.00	\$300,00
28	GRAVEL FILTER SOCK	LF	36.00	\$6.50	\$234.00	\$3.00	\$108.00	<u></u> \$15.00	\$540.00	\$9.00	\$324.00
29	CONSTRUCTION ENTRANCE	EΑ	3.00	\$400.00	\$1,200,00	\$400,00	\$1,200.00	\$520.00	\$1,560.00	\$680.00	\$2,040.00
30	SEDIMENT CONTROL WATTLE	LF	50.00	\$3.00	\$150,00	\$3.00	\$150.00	\$6.00	\$300.00	\$6.50	\$325.00
31	INCIDENTAL	LS	1.00	\$3,500.00	\$3,500.00	\$500.00	\$500.00	\$8,000.00	\$8,000.00	\$2,205.00	\$2,205.00
	TOTAL				\$228,000.00		\$214,226.50		\$242,633.00		\$243,750.00

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Todd Peckosh, PE Project Manager